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o EEX N 54,866 55,662 110,528 5 54.18 54.61 54.39|
sEREEREES [HRK RAMETAI0R 54,895 55,662 110,557 54866] 55662 110,528 15 54.18 54.6 54.39 W
o INEEX [ A 54821  55465] 110,286 4 57.57 58.05 57.81] e
REBEEERESE [HHIRE TAISE10A31H 54,849 55465/ 110314 54,821| 55465| 110,286 9 57.57 58.04 57.81 W
o BEX | oz 53,831  54.423| 108,254 3 51.34 51.09 51.21] e
sEREEREES [HRK FHITEIA2H 53,860 54,426 108,286 53,831  54.423| 108,254 13 51.33 51.08 51.20 W
IVEEX [ 53,109] 53,605 106,714 3 53.65 52.77 53.20 =
REFZEREE [HAIRKE FR20%10A 228 53,149 53611 106,760 53,109] 53,605] 106,714 8 53.64 52.77 53.20 M
. BEX | L 52,364] 52,829] 105,193 3 54.97 54.45 54.71] o
SEREEREESE [HHikE 28577108 52:406 52836 105,242 52,364| 52,829] 105,193 12 54.97 54.45 54.71 W
. INBERX [ 50,102  50,641] 100,743 3 53.06 50.88 51.96]
RERZEREE (K% FR26512R 148 50.145 50,648 100,793 50,102]  50,641] 100,743 9 53.05 50.85 51.95 W
BEX | 5. 49554| 49.828| 99,382 4 53.10 51.29 52.20] s
SEEEREES [IHRK FR255TA21R 19,597 49.835 99,432 49554| 49.828| 99,382 12 53.10 51.29 52.20 W
INEERX | 49,082 49,373 08.455]  48,980]  49,300] 98,280 4 61.73 61.09 61.41] =
RBTBEREE  [HAIRE FR245F12R16H 49,082 49,373 98.455]  48,980]  49.300] 98,280 9 61.7 61.08 61.39 W
BEX | 5 47.347] 47532 94879 4 57.87 58.4 58.13] =
sEmEREsRE Lprs| T R22FTANE 414250 415771 95,002 30T 94879 2] 5786] 5839  58.02]"
INEERX| . 47,039 47,110 94,149 46,964] 47,074] 94,038 4 68.92 69.92 69.42| =
RBTBEREE  [HAIRE 21485308 47,039 47,110 94149]  46,964| 47.074] 94,038 10 68.9 69.9 694Hﬁh
BEX | 5. 46,220  45771] 91,991 3 57.66 58.16 57.91(pe
SEEEREES [IHRK FRI9FTA2E 46,292 45796 92,088 46,220  45771] 91,991 11 57.65 58.16 57.90 W
. IMEEX 17498118 45,245 44,998 00243[  45181] 44,986] 90,167 3 67.03 69.12 68.07 ge 1)
REEZEREE (B 45,281 45,022 90,303] 45217] 45010] 90,227 6 66.98 69.09 68.03] -
N EERX | L. 45144] 44548 89,692 3 52.92 52.63 52.77| o=
sEmERELRE Lprs| TR I6FTANE 452011 443571 89,798 51 '5 73T 89,751 o sa8s] 5261 52751
] IMEEX 15411598 44,688 44,199 88,887 44,656] 44,190] 88,846 4 57.21 57.32 57.27|FDBE
RERZEREE (K% 44717 44,220 88937| 44685 44211] 88896 5 57.18 57.29 57.23|Y
" BEERX | 5 44,176] 43,179] 87,355 4 54.2 55.16 54.67|FEN DB
SEREEREESE HFikE RIS A2R 44206 43.183 88,228 44208| 43.201] 87,409 9 54.16 55.14 54.64| Y
. IVBERX [ - 43,346 42,160 85,506] 43317] 42,157 85474 3 60.1 61.65 60.86] =,
REEZEREE (B FRI1246H 258 43,457 42175 85542] 43338] 42,172] 85510 8 60.07 61.62 60.83TJ
BEEX | g 4 59.79 62.04 60.91] e
SHIEHEESEE [LBIRE TRE10ETA 128 40,706 40,269 80,975| 40,688| 40,267 80,955 7} 5979 52,0 60.91 Eh
BEEX | g 4 57 57.8 57.4|BENEF R
BEEERLEE (LPIRE TER8E10H20H 38,276 38,196 76,472| 38253 38,193| 76,446 5 = 5779 57 30| 2
BEEX T b 3 47.59 48.12 47.85
sEEEREERE HpIRE TERi74E7823H 37,055 37,016 74071 37,028 37,014 74042 73 2759 YTRE 1758 Eh
RIEBFTZEMRESE [BEHERX SERSETA18H 34,751 35,401 70,152]  34.730]  35.400] 70,130 8 66.75 66.41 66.58| FRDLE
BEEX T b 3 58.33 58.57 58.45| e
SHEHEESEE [LBIRE Tri4%ETH26H 33,985 34,656 68,641| 33819| 34540 68,359 % TR o7 = En
RBFTZERES |[BEERX 22 H18H 32,009 32,597 64,606] 31.974] 32577 64,551 8 72.97 74.54 73.76[lE5H
BEEX T b 3 70.59 72.07 71.34] .«
SHIEHEELEE [LBIRE Ti14E7H238 31,564 32,094 63,658| 31,528| 32,084 63612 0 2059 7506 =T33 En




